REPLACEMENT PART DESCRIPTION FORM

MODEL #: W665-68

J FACTORY USE ONLY!!
PART DESCRIPTION USED ON: | MRP# MATERIAL QTY.
PACK P/M
1 |Top Panel (1829x435x46mm) | W665-68 |[R54709 Wood 1 K M
2 Divider (471x416x15mm)| W665-68 |R54710 Wood 1 K M
3 Left Side Panel (515x435x17mm)| W665-68 | R54711 Wood 1 K M
4 Side Bottom Frame (430x203x25mm) W665-68 | R54712 Wood 2 K M
5 Door #1 (423x439x19mm) | W665-68 |R54713 Wood 2 K M
6 Bottom Shelf (702x202x25mm) | W665-68 |R54714 Wood 2 K M
7 Adjustable Shelf (880x393x17mm)| W665-68 | R54715 Wood 2 K M
8  |Bottom Divider (430x198x25mm) | W665-68 | R54716 Wood 1 K M
9  [Door Hinge(set)(w/3.5 x 15mm Screws)] W665-68 [ R54717 Metal 4 G P
10 |Door #2 (423x439x19mm) | W665-68 |R54718 Wood 2 K M
11 [Bottom Panel (1791x435x17mm)| W665-68 | R54719 Wood 1 K M
12 Door Hinge(Set)(w/3.5 x 15mm Screws) W665-68 | R54720 Metal 4 G P
13 |Right Side Panel (515 x 435 x 17mm)| W665-68 | R54721 Wood 1 K M
14 |Shelf Support (w/Pad)(Black)] W665-68 | R40283 Metal+Felt 8 G P
15 |Leveler W665-68 |[R46451 Plastic 2 G P
1/4inx 38mm Allen Bolt(4)
1/4inx 32mm Allen

16 |Hardware Pack W665-68 | R54722 ain lockweersy | 1| G | P

1/4in Flat Washer(32)

4mm Allen Wrench(1)

Mounting Bracket (2)
17 |Tipping Restraint Pack W665-68 |R15074 T sy | 1] G| P

Plastic Tie (1)

18 |Handle (W/Bolt 5/3in x 22 mm )| W665-68 | R54723 Metal 4 G P
19 [T-Nut (1/4inx 12mm) W665-68 | R48363 Metal 4 G P
20 [Insert (1/4in x 15mm) W665-68 | R46494 Metal 8 G P
21 [Insert (1/4in x 10mm) W665-68 [ R34450 Metal 16 G P
22 |Insert (1/4in x 17mm) W665-68 |R17387 Metal 4 G P
23 |Back Panel (483x489x5mm)| W665-68 | R54724 Wood 2 K M
24 [Top Door Catch(M+F)(w/3.5 x 15mm Screws) | W665-68 [ R40282 Metal+Plastic 4 G P
25  [Bottom Door Catch(M+F)(w/3.5 x 15mm screws) | \W665-68 | R48360 Metal+Plastic 4 G P

SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. July 2021 Page 1 Of 2




b
y nEjd{_l"JN

REPLACEMENT PART DESCRIPTION FORM

MODEL #: W665-68

SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. July 2021 Page 2 Of 2




